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Possible ar
Part one
A.comprehension
Activity one
Ipts | 2pts 1.y 1pt
2:¢c 1pt
3pts | Activity two
1: they used to read the newspapers ¢
thery used to read the newspapers in
2: things became more complicated 1
news arrived/then things became.....
3: They: people/ the British/ people
One: newspaper/ paper/ an evenin
2pts | Activity three:
lexis:
Synonyms: probably= possibly 0.50
Opposites: hard # easy 0.50
B.Mastery of language:
Ipt | Activity one:
Tpts Punctuation:
The most popular print newsp:
Activity two:
3pts Verb form: began / didn't use to / ci
Activity three:
2pts | Word form: 0.50 each
complicated | more comy
easy easier
big bigger
Activity four:
1pt Pronunciation: silent letters 0.25 e:
Listen- would- while- work
6pts Part two
Written expression
Criteria Indicators

Relevance | Writes a paragrap
Semantic Lists, argues, des:
coherence | comments, gives
Syntactic Correct use of gre
coherence | word order, spelli
capitals, simple p
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dday) palis

iswers and scoring scale

n the train/ they read the newspapers on the train/
the train/ on the train 1pt

vhen 24 hour tv news arrived/ when 24hour tv
........ and when 1pt

in Britain 0.5

g newspaper 0.5

different = separate 0.50
less #more 0.50

iper in Britain is the "Sun". 0.25 each

eated 1pt each

licated | the most complicated
The easiest

The biggest
1ch

E |G |F |P
h 2 |13 |1 0.5
ribes, 2 15 |1 0.5
opinion
mmar, 2 15 |1 0.5
ng,
resent




